DAILY BASIS ASSIGNMENT
DAY:WEDNESDAY STD: IV DATE:20 .05.2020

SUBJECT: ENGLISH
Tick the group for which the following collective nouns are used:
1.bundle

a) agroup of cards
b) agroup of sticks
c) agroup of pencils
d) agroup of rulers

2.swarm
a) agroup of flowers

b) agroup of birds
c) agroup of stars
d) agroup of bees
3.bunch
a) agroup of books
b) agroup of trees
c) agroup of flowers
d) agroup of leaves
4 flock
a) agroup of people
b) agroup of wolves
c) agroup of cattle
d) agroup of sheep
5.gang
a) agroup of people
b) agroup of robbers
c) agroup of players
d) agroup of singers




SUBJECT : MATHEMATICS

Multiple choice questions(select the correct one):-
1.Successor of 7859 is
a) 7858 b) 7861 ¢)7859 d) 7860
2.9000 + 3 is the expanded form of :
a) 9300  b) 9003 c) 9030 d) 3900
3. The 3-digit largest numberis ______.
a) 100 b) 998 c) 999 d) 990
4. Predecessor of 6020 is :
a) 6021 b) 6019 ¢) 6022 d)6018
5. Expanded form of 40609 is
a) 40 +609 b) 406 +09 c)4060+9 d) 40000+ 600 +9

SUBJECT: COMPUTER

Choose the best options from those given below :-

1) IC was invented in
a)1958 b)1954  ¢) 1955 d)1956
2) Who invented Difference Engine?
a) Pascal b) Abacus c) Charles Babbage d) IBM
3) Blaise Pascal invented Calculator in
a) 1640 b) 1641 «¢)1642  d)1643
4)lt is used to play computer games
a)Joystick b)Input  c)Output d)Hard copy
5) In CRT, R stands for
a) Radium b)Ray. c)Input d)Soft copy



SUBJECT: EVS

Choose the correct answer:
1.A bad touch makes someone feel

a) Happy b) Comfortable c¢) Scared d) Nice
2.The main occupation of the people in village is
a) Driving  b) Cleaning c) Agriculture  d) Singing
3.Raising a child by a couple or an individual who is not born
to them is called
a) Affection b) Adoption c) Teaching d) Sympathy
4.The number of sense organs we have is
a) Two b)Five c¢)Three d)Four
5.We can feel hot and cold with the help of our
a) Skin  b)Eyes c)Nose d)Tongue
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